
CU CU

CU

EXTG SLAB

TO REMAIN

N
E

W
 
6
7
5
w

x
4
5
0
d
 
R

.
C

.
 
C

A
P

P
I
N

G
 
B

E
A

M

01 03

NEW 675wx450d R.C. CAPPING BEAM

05

03

01

04

02

05

03

01

04

02

05

03

01

04

02

0305 01 04 02 05

03

01

04

02

05

03

01

04

02

05

04

02

UNDERPINNING TO THIS

SIDE OF ENTRANCE

STEPS T.B.C. FOLLOWING

FURTHER SITE

INVESTIGATION

EXTG PORTICO TO

REMAIN

EXTG 215thk BWK

PARTY WALL TO

REMAIN

NEW 675wx450d

R.C. CAPPING BEAM

NEW 350Ø CONTIG. PILES

UNDER - TO BE DESIGNED

& INSTALLED BY

SPECIALIST CONTRACTOR

NEW 250thk R.C. LINER

WALL UNDER BUILT UP TO

FORM RETAINING WALL

DENOTES 135mm

TOLERANCE ZONE

NEW ROOFLIGHT TO

ARCHS DESIGN &

DETAILS

N
E

W
 
6
7
5
w

x
4
5
0
d

R
.
C

.
 
C

A
P

P
I
N

G

B
E

A
M

BOUNDARY FENCE TO BE

REINSTATED POST

CONSTRUCTION OF

BASEMENT - T.B.C.

COL. C4

COL. C3

COL. C3

NEW 600wx500d R.C. BEAM

NEW 400wx500d R.C. BEAM

N
E

W
 
6
0
0
w

x
5
0
0
d
 
R

.
C

.
 
B

E
A

M

N
E

W
 
6
0
0
w

x
5
0
0
d
 
R

.
C

.
 
B

E
A

M

N
E

W
 
6
0
0
w

x
5
0
0
d

R
.
C

.
 
B

E
A

M

NEW 600wx500d

R.C. BEAM

N
E

W
 
6
0
0
w

x
5
0
0
d

R
.
C

.
 
B

E
A

M

N
E

W

 6
0
0
w

x
5
0
0
d
 R

.C
. B

E
A

M

N
E

W
 
6
0
0
w

x
5
0
0
d

R
.
C

.
 
B

E
A

M

N
E

W
 
4
0
0
w

x
5
0
0
d

R
.
C

.
 
B

E
A

M

N
E

W
 
6
0
0
w

x
5
0
0
d
 
R

.
C

.
 
B

E
A

M

01

PILES & CAPPING

INSTALLED DURING

BASEMENT WORKS TO

11 PEMBRIDGE PLACE

EXTG 215thk GARDEN

WALL TO BE REMOVED &

REPLACED WITH BWK

TO MATCH EXTG

NEW 350Ø CONTIG. PILES

UNDER - TO BE DESIGNED

& INSTALLED BY

SPECIALIST CONTRACTOR

NEW 200thk R.C.

RETAINING WALLS TO

SLOPED ROOFLIGHT

NEW 200thk R.C.

RETAINING WALL

NEW 250thk R.C. LINER

WALL UNDER

DENOTES 135mm

TOLERANCE ZONE

EXTG 215thk BWK

GARDEN PARTY

WALL

DENOTES SEQUENCE OF NEW MASS

CONC. UNDERPINS - SEQUENCE TO

BE AGREED WITH CONTRACTOR

PRIOR TO CONSTRUCTION

X

ALLOW FOR 1000d

SOIL BACKFILL

NEW 200thk R.C.

RETAINING WALL &

NEW 300thk R.C.

GROUND BEARING

SLAB INSTALLED IN

UNDERPIN FASHION

LIFT

13A PEMBRIDGE PLACE

(4 STOREY DWELLING -

GROUND FLOOR REPLACED BY

ACCESS)

11 PEMBRIDGE PLACE

(4 STOREY DWELLING + BASEMENT

CONSTRUCTED CIRCA 2014)

11 PEMBRIDGE

PLACE GARDEN

13A PEMBRIDGE

PLACE GARDEN

NEW 250thk R.C.

LINER WALL

ALLOW FOR 1000d

SOIL BACKFILL

B

A

NEW 200thk R.C.

RETINING WALL

03

01

E D C B A

01

02

N
E

W
 
6
0
0
w

x
5
0
0
d

R
.
C

.
 
B

E
A

M

 LOWER GROUND FLOOR PLAN

0.5 m 1 m 3.0 m0.0 m

GL1

SEQUENCE OF WORK : PHASE 1

1. Underpin Gardena and Party Wall along GL1

2. Install all piles

3. Construct Steel tower to support front facade.

4. Demolish existing structure except front facade

Continued

1.Underpin Garden
and Party Wall

1.Underpin Garden
and Party Wall

1.Underpin Garden
and Party Wall

Existing Walls
to be removed

2.Install all Piles

2.Install all Piles

2.Install all Piles

2.Install all Piles

2.Install all Piles2.Install all Piles

1.New 200 mm Th.
RC Retaining wall
cast in underpin

A

Column C1
-by others

Demolish existing structure

B1

PILE LOADS:

(Service loads)

P01 to P32 = +200 kN

P17, P18, P19, P20, P24, P30,

P31, P32 =-200 kN- tension

Horizontal Loads:

P01to P032  =25 kN

Vertical bracing

Vertical bracings

Construct Steel Tower
to support front facade

B

P01

P02

P03

P04

P05

P06

P21

P08

P25

P09P07

P10

P22

P26 P27

P12

P11 P13

P14

P28 P29

P16

P15

P23

P30

P18

P17

P24

P31

P20

P19

P32

Note :  Front sacrificial piles P17, P18,

P19, P20, P24, P30, P31 and P32 to be

designed for 200 kN tension and 200 kN

compression.

Drawing No.Job No.DateScale

Drawing Title

Client

Project 

DO NOT SCALE FROM THIS DRAWING.
ALL DIMENSIONS TO BE VERIFIED ON SITE BY
CONTRACTOR PRIOR TO COMMENCEMENT OF ANY
SHOP DRAWINGS AND ANY WORK ON SITE.
REPORT ALL DISCREPANCIES TO THE
ARCHITECT/ENGINEER IMMEDIATELY.
THIS DRAWING IS TO BE READ IN CONJUNCTION
WITH ALL RELATED ARCHITECT/ ENGINEERS
DRAWINGS / DETAILS AND ALL OTHER RELEVANT
INFORMATION.

General Notes

Notes

consulting engineers

LIM ENGINEERING LTD

Issued For

-

Lower Ground Plan-Phase 1

12 Pembridge Place

Information

London W2

1: 100@A3 Nov. 2017 1125 TW01-Rev C

15 Kinloch Drive, London, Nw9 7LL - Tel: 020 8205 1427

Fax: 020 8205 1427



CU

CU CU

CU

EXTG SLAB

TO REMAIN

N
E

W
 
6

7
5

w
x
4

5
0

d
 
R

.
C

.
 
C

A
P

P
I
N

G
 
B

E
A

M

01 03

NEW 675wx450d R.C. CAPPING BEAM

05

03

01

04

02

05

03

01

04

02

05

03

01

04

02

0305 01 04 02 05

03

01

04

02

05

03

01

04

02

05

04

02

UNDERPINNING TO THIS

SIDE OF ENTRANCE

STEPS T.B.C. FOLLOWING

FURTHER SITE

INVESTIGATION

EXTG PORTICO TO

REMAIN

EXTG 215thk BWK

PARTY WALL TO

REMAIN

NEW 675wx450d

R.C. CAPPING BEAM

NEW 350Ø CONTIG. PILES

UNDER - TO BE DESIGNED

& INSTALLED BY

SPECIALIST CONTRACTOR

NEW 250thk R.C. LINER

WALL UNDER BUILT UP TO

FORM RETAINING WALL

DENOTES 135mm

TOLERANCE ZONE

NEW ROOFLIGHT TO

ARCHS DESIGN &

DETAILS

N
E

W
 
6

7
5

w
x
4

5
0

d

R
.
C

.
 
C

A
P

P
I
N

G

B
E

A
M

COL. C1

COL. C4

COL. C3

COL. C2

COL. C1

COL. C4

COL. C3

N
E

W
 
6

0
0

w
x
5

0
0

d

R
.
C

.
 
B

E
A

M

05

03

01

04

02

PILES & CAPPING

INSTALLED DURING

BASEMENT WORKS TO

11 PEMBRIDGE PLACE

EXTG 215thk GARDEN

WALL TO BE REMOVED &

REPLACED WITH BWK

TO MATCH EXTG

NEW 350Ø CONTIG. PILES

UNDER - TO BE DESIGNED

& INSTALLED BY

SPECIALIST CONTRACTOR

NEW 200thk R.C.

RETAINING WALLS TO

SLOPED ROOFLIGHT

NEW 200thk R.C.

RETAINING WALL

NEW 250thk R.C. LINER

WALL UNDER

DENOTES 135mm

TOLERANCE ZONE

EXTG 215thk BWK

GARDEN PARTY

WALL

DENOTES SEQUENCE OF NEW MASS

CONC. UNDERPINS - SEQUENCE TO

BE AGREED WITH CONTRACTOR

PRIOR TO CONSTRUCTION

X

ALLOW FOR 1000d

SOIL BACKFILL

NEW 200thk R.C.

RETAINING WALL &

NEW 300thk R.C.

GROUND BEARING

SLAB INSTALLED IN

UNDERPIN FASHION

LIFT

13A PEMBRIDGE PLACE

(4 STOREY DWELLING -

GROUND FLOOR REPLACED BY

ACCESS)

11 PEMBRIDGE PLACE

(4 STOREY DWELLING + BASEMENT

CONSTRUCTED CIRCA 2014)

11 PEMBRIDGE

PLACE GARDEN

13A PEMBRIDGE

PLACE GARDEN

NEW 250thk R.C.

LINER WALL

ALLOW FOR 1000d

SOIL BACKFILL

B

NEW 200thk R.C.

RETINING WALL

03

01

E D C B A

01

02

PROPOSED LOWER GROUND FLOOR PLAN

0.5 m 1 m 3.0 m0.0 m

GL1

Existing Walls
to Remain

Sacrificial Piles

2.Install all Piles

05 02 04 01 03 05 01 04 02 05 03 01

Underpin Party Wall
in sequence in two stages

05 03

Underpin  Wall
in sequence in two stages

  VB1

(VB2 Below)

  VB1

(VB2 Below)

  VB1

(VB2 Below)

  VB1

(VB2 Below)

  VB1

(VB2 Below)

  D1

(D2 Below)

  D1

(D2 Below)

  S1

(S2 Below)

  S1

(S2 Below)

  S1

(S2 Below)

  S1

(S2 Below)

Beam Schedule:

VB1-203 UC 86

VB2-254 UC 107

D1-203 UC 46

D2-203 UC 71

S1-203 UC 46

S2-203 UC 52

D1.1, D2.1-152 UC 30

Tie Beams T1, T2-152 UC 30

T.Columns-152 UC 30

T1,T2-152 UC 30

Tie Beam

152 UC 30

Column Below

152 UC 30

Column Below

152 UC 30

Column Below

Temporary

MC Footing

Temporary

MC Footing

Temporary

MC Footing

  VB1

(VB2 Below)

  D1

(D2 Below)

  VB1

(VB2 Below)

  VB1

(VB2 Below)

  S1

(S2 Below)

  D1

(D2 Below)

  D1.1

(D2.1 Below)

T1,T2-152 UC 30

Tie Beam

A A

SEQUENCE OF WORK : PHASE 2

5. Proceed with  LG RC Slab construction

6. Proceed with basement and superstructure construction

7. Remove temporary piles in basement

Drawing No.Job No.DateScale

Drawing Title

Client

Project 

DO NOT SCALE FROM THIS DRAWING.
ALL DIMENSIONS TO BE VERIFIED ON SITE BY
CONTRACTOR PRIOR TO COMMENCEMENT OF ANY
SHOP DRAWINGS AND ANY WORK ON SITE.
REPORT ALL DISCREPANCIES TO THE
ARCHITECT/ENGINEER IMMEDIATELY.
THIS DRAWING IS TO BE READ IN CONJUNCTION
WITH ALL RELATED ARCHITECT/ ENGINEERS
DRAWINGS / DETAILS AND ALL OTHER RELEVANT
INFORMATION.

General Notes

Notes

consulting engineers

LIM ENGINEERING LTD

Issued For

-

LG-Proposed Plan -Phase 2

12 Pembridge Place

Information

London W2

1: 100@A3 Nov. 2017 1125 TW02-Rev C

15 Kinloch Drive, London, Nw9 7LL - Tel: 020 8205 1427

Fax: 020 8205 1427



EXISTING GROUND

FLOOR

24.140 m

EXTG VOID

UNDER STAIR

TO REMAIN

NEW 250thk R.C. LINER WALL

NEW 600wx500d R.C.

DOWNSTAND BEAM

NEW 600wx500d R.C.

DOWNSTAND BEAM

NEW 600wx500d R.C.

DOWNSTAND BEAM

NEW 250thk R.C. LINER WALL

NEW 350Ø CONTIG. PILES

INSTALLED & DESIGNED BY

SPECIALIST CONTRACTOR

NEW 675wx450d R.C.

CAPPING BEAM

135mm TOLERANCE ZONE

NEW 300d R.C. SLAB ON

225thk ANTI HEAVE MAT

1200wdx600d R.C. SLAB

EDGE THICKENING

2No 600lg H20 DOWEL

BARS PER PILE

NEW GLAZING TO

ARCHS DESIGN &

DETAILS

NEW 325thk BWK /

BLK CAVITY WALL

NEW 250thk

R.C. SLAB

NEW STEPS TO

ARCHS DESIGN &

DETAILS

NEW 350thk

R.C. SLAB

NEW BEAM G - 7NEW BEAM G - 4

NEW BEAM G - 1

EXTG STAIR &

PORTICO TO REMAIN

NEW BEAM 1 - 17

NEW BEAM 1 - 12

NEW BEAM 1 - 13

NEW BEAM 1 - 14

NEW BEAM 1 - 18

NEW BEAM 1 - 11

NEW ROOFLIGHT TO

ARCHS DESIGN &

DETAILS

NEW BEAM 2 - 4

NEW BEAM 3 - 2
NEW BEAM 3 - 5 NEW BEAM 3 - 7

NEW BEAM 3 - 1

NEW 50x225 C24

TIMBER FLOOR

JOISTS @ 400c/c

WITH PLYWOOD -

SEE KEY

NEW 50x225 C24

TIMBER FLOOR

JOISTS @ 400c/c

WITH PLYWOOD -

SEE KEY

NEW 50x225 C24

TIMBER FLOOR

JOISTS @ 400c/c

WITH PLYWOOD -

SEE KEY

NEW 50x225 C24

TIMBER FLOOR

JOISTS @ 400c/c

WITH PLYWOOD -

SEE KEY

NEW BEAM R - 9

*

L1

L1

NEW BEAM G - 13 WITH 15mm

BOTTOM PLATE ACROSS

WINDOW. BEAM TO SPAN

BETWEEN COLUMNS

PROVIDE ANCON

WP2P 170x70x4

WIND POSTS @

2mc/c FIXED TO TOP

OF BEAM 3-1

SECTION A-A

0.5 m 1 m 3.0 m0.0 m

Temporary
MC Footing

VB1 D1 S1

S1 S1S1 S1

D1

VB1

VB1

VB2

D2

S2

S2

S2
S2

S2

D2

VB2 VB2

Outline of Column
152 UC 30 behind

Outline of Tie Beam T2-
152 UC 30 behind

Temporary
MC Footing

Temporary MC Footing

Outline of Column
152 UC 30 behind

Outline of Column
152 UC 30 behind

Outline of Tie Beam T1-
152 UC 30 behind

Underpin Party Wall
in sequence in two stages

Second Stage
of underpinning

First Stage
of underpinning

75 mm Dry Pack

75 mm Dry Pack

SEQUENCE OF WORK : PHASE 2

5. Proceed with  LG RC Slab construction

6. Proceed with basement and superstructure construction

7. Remove temporary piles in basement

RC Cap
500x500x400 mm

Detail 'A'

M10 threaded rod @800mm c/c
+ 150x150x10 Plate externaly

Detail 'B'

2
0

3
 
U

C
 
5

2

2
0

3
 
U

C
 
5

2

200x90 PFC

200x90 PFC

Diagonals

200x90 PFC

SEQUENCE OF WORK : PHASE 1

1. Underpin Gardena and Party Wall along GL1

2. Install all piles including sacrificial

3. Construct Steel tower to support front facade.

4. Demolish existing structure except front facade

Continued

2
0

3
 
U

C
 
5

2

2
0

3
 
U

C
 
5

2

200x90 PFC

200x90 PFC

200x90 PFC

Diagonals

200x90 PFC

Construct Steel Tower
to support front facade

Detail 'C'

Detail 'D'

Detail 'B'
Scale :1:25

Detail 'A'
Scale :1:25

RC Circular Columns
350 mm dia

RC  Column Cap
500x500x400 mm
(H16 bars; 3 on side and 4 top and
bottom in each direction)

RC Circular Columns
350 mm dia

200x90 PFC bracing bolted to collar
with 2No M16 8.8 Bolts

Column welded to 450x450x20mm Th.
steel plate and anchored
in RC Cap with 4 No M20
cast-in bolts

Collar made of 120x8 EA bolted to
RC pile with M16 anchors

10mm fin plate welded to collar and
bolted to angle bracing with 2 No
M16 8.8 bolts

PLAN

ELEVATIONS

1

21 - 1

2 - 2

Drawing No.Job No.DateScale

Drawing Title

Client

Project 

DO NOT SCALE FROM THIS DRAWING.
ALL DIMENSIONS TO BE VERIFIED ON SITE BY
CONTRACTOR PRIOR TO COMMENCEMENT OF ANY
SHOP DRAWINGS AND ANY WORK ON SITE.
REPORT ALL DISCREPANCIES TO THE
ARCHITECT/ENGINEER IMMEDIATELY.
THIS DRAWING IS TO BE READ IN CONJUNCTION
WITH ALL RELATED ARCHITECT/ ENGINEERS
DRAWINGS / DETAILS AND ALL OTHER RELEVANT
INFORMATION.

General Notes

Notes

consulting engineers

LIM ENGINEERING LTD

Issued For

-

Section A - A 

12 Pembridge Place

Information

London W2

1: 100@A3 Nov. 2017 1125 TW03-Rev C

15 Kinloch Drive, London, Nw9 7LL - Tel: 020 8205 1427

Fax: 020 8205 1427



Detail 'C'
Scale :1:25

1

1

2

2
1 - 12 - 2

Column 203 UC 52

200x90 PFC welded to 300x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column flange

Column 203 UC 52

200x90 PFC welded to 300x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column flange

200x90 PFC welded to 200x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column flange

200x90 PFC welded to 200x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column web

200x90 PFC welded to 200x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column web

Detail 'D'
Scale :1:25

M10 threaded rod @800mm c/c +
150x150x10 Plate externaly

1

1

2

2

200x90 PFC welded to 200x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column web

1 - 12 - 2

 200 x90 PFC

 200 x90 PFC

200x90 PFC welded to 200x100x10 mm
steel plate and bolted with 2 No M16 8.8
bolts to column web

10 mm Th. Stiffener

 10 mm Th.
Steel Plate

Existing Wall to Remain Existing Wall to Remain

1

1

203 UC welded to 15 mm th. steel plate
and bolted with 4 No M20 8.8 bolts to
beam flange

203 UC  welded to 15 mm th. steel plate
and bolted with 4 No M20 8.8 bolts to
beam flange

203 UC

1 - 1

15 mm th. steel plate

Fillet Welds 8.0 mm
Leg length

TYPICAL CONNECTION BETWEEN
203 UC and  203 UC

1

1

254 UC 107 welded to 15 mm th. steel
plate and bolted with 4 No M24 8.8 bolts
to beam flange

254 UC 107 welded to 15 mm th. steel
plate and bolted with 4 No M24 8.8 bolts
to beam flange

VB2-254 UC 107 15 mm th. steel plate

Fillet Welds 8.0 mm
Leg length

1 - 1
TYPICAL CONNECTION BETWEEN
254 UC 107 and 254 UC 107

Tie Beam 1- 152 UC 30

Tie Beam 1- 152 UC 30

Column- 152 UC 30

Column- 152 UC 30

S2 -203 UC 52

S1 -203 UC 46

10 mm th.
steel stiffener

10 mm th.
steel stiffener

Column welded to 300x300x15 mm Th.
steel plate and anchored in MC Footing
with 4 No M20 cast-in bolts

10 mm th. steel plate
+ 4 No M20 8.8 bolts

10 mm th. steel plate
+ 4 No M20 8.8 bolts

10 mm th. steel plate
+ 4 No M20 8.8 bolts

10 mm th. steel plate
+ 4 No M20 8.8 bolts

MC Temporary Footing

Scale :1:25

Scale :1:25

Scale :1:25

Fillet Welds 6.0 mm
Leg length

12 mm th. steel plate

203 UC
Prop 152 UC 30 welded to 12 mm th
steel plate and bolted with 4 No M20 8.8
bolts to beam flange

Scale :1:25

TYPICAL CONNECTION BETWEEN
203 UC and  152 UC 30

Fillet Welds 6.0 mm
Leg length

12 mm th. steel plate

254 UC 107
Prop 152 UC 30 welded to 12 mm th
steel plate and bolted with 4 No M20 8.8
bolts to beam flange

12 mm th. steel
stiffeners

15 mm th. steel
stiffeners

10 mm th. steel
stiffeners

10 mm th. steel
stiffeners

Scale :1:25

TYPICAL CONNECTION BETWEEN
254 UC 107 and  152 UC 30

0.5 m 1 m 3.0 m0.0 m

CONNECTION BETWEEN  TIE COLUMN, BEAM
and PROPS S1 and S2

Drawing No.Job No.DateScale

Drawing Title

Client

Project 

DO NOT SCALE FROM THIS DRAWING.
ALL DIMENSIONS TO BE VERIFIED ON SITE BY
CONTRACTOR PRIOR TO COMMENCEMENT OF ANY
SHOP DRAWINGS AND ANY WORK ON SITE.
REPORT ALL DISCREPANCIES TO THE
ARCHITECT/ENGINEER IMMEDIATELY.
THIS DRAWING IS TO BE READ IN CONJUNCTION
WITH ALL RELATED ARCHITECT/ ENGINEERS
DRAWINGS / DETAILS AND ALL OTHER RELEVANT
INFORMATION.

General Notes

Notes

consulting engineers

LIM ENGINEERING LTD

Issued For

-

Steel Connection Details

12 Pembridge Place

Information

London W2

1: 25@A3 Nov. 2017 1125 TW04

15 Kinloch Drive, London, Nw9 7LL - Tel: 020 8205 1427

Fax: 020 8205 1427


	TW04-Steel Connections.pdf
	Sheets and Views
	TW04 -Details


	TW01 -LG Proposed Plan -Phase 1.pdf
	Sheets and Views
	TW01 -LG Proposed Plan -Phase 1


	TW02 -LG Proposed Plan-Phase 2.pdf
	Sheets and Views
	TW02 -LG Proposed Plan-Phase 2


	TW03 -Section A-A.pdf
	Sheets and Views
	TW03 -Section A-A





